
Schlussregeln des Sequenzenkalküls

(=) Γ, t = t ⇒ ∆
Γ ⇒ ∆

(S ⇒) Γ, ψ(t) ⇒ ∆
Γ, t .= t′, ψ(t′) ⇒ ∆ (⇒ S) Γ ⇒ ∆, ψ(t)

Γ, t .= t′ ⇒ ∆, ψ(t′)

(¬ ⇒) Γ ⇒ ∆, ψ
Γ,¬ψ ⇒ ∆ (⇒ ¬) Γ, ψ ⇒ ∆

Γ ⇒ ∆,¬ψ

(∨ ⇒) Γ, ψ ⇒ ∆ Γ, ϑ ⇒ ∆
Γ, ψ ∨ ϑ ⇒ ∆ (⇒ ∨) Γ ⇒ ∆, ψ, ϑ

Γ ⇒ ∆, ψ ∨ ϑ

(∧ ⇒) Γ, ψ, ϑ ⇒ ∆
Γ, ψ ∧ ϑ ⇒ ∆ (⇒ ∧) Γ ⇒ ∆, ψ Γ ⇒ ∆, ϑ

Γ ⇒ ∆, ψ ∧ ϑ

(→⇒) Γ ⇒ ∆, ψ Γ, ϑ ⇒ ∆
Γ, ψ → ϑ ⇒ ∆ (⇒→) Γ, ψ ⇒ ∆, ϑ

Γ ⇒ ∆, ψ → ϑ

(∃ ⇒) Γ, ψ(c) ⇒ ∆
Γ,∃xψ(x) ⇒ ∆

∗ (⇒ ∃) Γ ⇒ ∆, ψ(t)
Γ ⇒ ∆,∃xψ(x)

(∀ ⇒) Γ, ψ(t) ⇒ ∆
Γ,∀xψ(x) ⇒ ∆ (⇒ ∀) Γ ⇒ ∆, ψ(c)

Γ ⇒ ∆,∀xψ(x)
∗

für ein Konstantensymbol c und beliebige Terme t, t′.
∗wenn c in Γ,∆ und ψ nicht vorkommt


